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(Engllsh Version)

You must write the subject-code/paper-code 053/C in the box provided on the title
page of your answer-book.

Make sure that the answer-book contains 30 pages (including tztle page) and are
properly serialed as soon as you receive it.

Question/s attempted after leaving blank page/s in the answer-book would not be

" evaluated.
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' (vii)

(viii)
(ix)

)

(i)

i)

1.. Whichoffollowingis s_trongerAcid :

(a)

Log tables may be asked for if needed.
Use of simple calculator is allowed.
Marks allotted to-each question are indicated against it.

The paper comprises of 26 questions. Attempt total 26 questions. Internal choice is
given in. Q0. No. 19, 23, 24, 25 and 26.

Question No. 1 to 8 carry one mark each. Answer in one line.

-Question No. 9 to 16 will be of two marks each. All questmns are compulsory. They are
short answer type questions.

Question No. 17 to 23 will be of 4 marks each. All questions are compulsory. Internal
choice is given for Question No. 19 and 23.

Question No. 24, 25 and 26 (Three questions) will be of 6 marks each. All qnestions
are compulsory Full internal choice is given.

Puryab: and Hindi versions of questions are translations of English version. Since |

translation is based on approximations, so in the case of any confusion consider
onside
English version to be correct.

L

- | 1.
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Complete the following

@_OH"‘%T" ................. |

Phenol
104§, 1

Find the half life period of first order reaction whose rate constant K =4.93 x

Whatare Analgesics ?

Find molarity if 0.0580 moles of a compound dissolve in 200 mi of its solution.

What are reducing sugars ?
Give one example of artificial sweetening agent.

Why do amines actas nucleophiles ?

Give monoiners name and preparation ofNyldn 6.,6.

Why aliphaticamines are stronger bases than ammonia ?
Write chemical name and deﬁciency disease of Vitamin C.

Write the [UPAC name of following:

@ K[Az(CN),]

(®) [CrONH,),(H,0),]CY,
A compound of X and Y crystallizes in the cubic structure in which Y atoms are at the corners
and X atoms are at the alternate faces of the cube. Find the formula of the compound. 2

Why Cu () is colourless and Cu (H) isblueincolour? 2

The rate constant for a first order reaction is 90 1. How much time will it take to reduce the

concentration of the reactant to jlath ofiits initial value ? 2

Define ore and minerals. | 2
(a) Write Hell Volhard-Zelinsky (H.V.Z.) reaction.

(b) Whyarethe boiling points of carboxylic acids higher than the corresponding alcohols ?

(c) Whyaldehydes are morereactive than ketones ? 1+1+2=4

(a) Givetwodifferences between Physical adsorption and Chemical adsorption.

(b) Whatis Emulsion? Name the types of Emulsions. - 2+2=4
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(b)
(@)

(b)
20. (a)
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22. (a)

(b)

(c)
23. (a)

(10)

Themolar conductance atinfinite dilution for SodiumAcetate (CH, COONa), Hydrozchlm;c
Acid (HC)), and Sodium Chloride (NaCl) are 92.5, 426.9 and 120.4 Scm’ mo

respectively at 298 K. Calculate the molar conductange of Acetic Acid (CH COOH) at
infinite dilution.

What is corrosion and give two factors which affect corrosion. 2'*'2=4
e S ey :
Calculate the molar conductance of a solution of MgCl, at infinite dilution giventhat the
molarionic conductance of A° (Mg”) 126.1 Scm?mol™ and A" (CH)= 56 3 Scm2 mol™,
Givetwo differences betweenE M., and Potential differerice. - 2+2—4

18 g of glucose (molar mass = 180 gmol™) isdissolved in 1000 g of water in'sauce pan.

Atwhat temperature will this solution boil 2,

(K, for water =0.52 K Kg mol! , boiling point of Purewater =373.15 K)
State and explain bneﬂy Henry’s law .

, - 232=4
Why bond angleofPhosphme (PH ) is lessthanAmmoma (NH )'7 o
Why H Slslessac1dlcthanH Te‘7 Q\Y 24224
Write Reimer-Tiemann’s reaction.:. IR AERE S
Howwillyou convert Chlorobenzene to Phenol‘? " R e ,
Why Phenols aremoreacldlcthanAlcohol? ' , 1+1+2—4

An element having. bee geometry has atomic

mass 60 gmol y! Calculate the denslty of .
Unit cell, ifits edge lengthis 300 pm,

© - (b): ‘Givetwo drfferencesbetweenCrystallmesollds andAmorphous solids. - - 2+2*4
‘ T T e SO S e S ST
_ (a) Anelement with density 11.2¢g cm™ forms feg lattice with edge length of 4 %1078 cm.
Calculate the atomic mass of the element
2 (b)  Defitie Unit cei and Paramagnetlc substance o . I 2+2=:;
24. (a) " Givetwo differences between Lantham;lds alldACtlHOlds T
(b) Howmany unpaired electrons are presentinFe*? and Zn*?, N A
N (g) WhyLa(OH) is strongerbasewlnleLu(OH) is weakerbase? S 24+2+2=6
CEPEEY R e, . -n‘or_ Vi, e S .
(@Y leepreparatlonofPotassmm Perm!m‘ganate (IQMnO ).
(b) What islanthanaid contraction, give s cause,
« - (o) Transmonmetals showcatalytlc Properties, Exp_lain’. L 24426
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25. (a)

(a)
(b)

(11)

Write the following reaction :

(i) WurtzFittigReaction

(ii) Balz-SchiemannReaction

(iii) Friedal Crafts Alkylation Reaction

Why solubility of Haloalkanes in water is very low ?

Give one use of Feron. 3+2+1=6

or '

Why Haloarenes are less reactive than Haloalkanes ? (Explain with resonance and

hybridization).

Explain substitution nucleophilic bimolecular (SN2) reaction.

Define Opticalactivity. - ' ‘ 3+2+1=6

SF, isknown but SH isnotknown. Explain.

FromHF and HI which ismore acidic and why ?

Give preparation of XeF , and XeOF,, " | | 242426
or ' ,

Give only manufacture of Sulphuric Acid by Contact process. (Only steps of preparation).

Give preparation and structure of C/F,.

Why are the elements of Group 18 known as noble gases 9 .. 3+2+1=6
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